Math 15 Answers to review exam #2
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2 a) 224 ft b) 8sec. c) 1024 ft. d) t=16 sec e) -256 ft/sec f) a(t)=-32
1 3
3 A f'x) = a7/ —2x72—5x72 b) f'(x) = (Bx +2)1°(2x +7) + 10(3x + 2)°(3)(x? +
7)
' _ (2x=3)(50)(5x+7)*°(5)—(2)(5x+7)>°
C) f (x) - (2x—3)2
4 —y2+2yx , L. . .
Y= Y at (1,2) = 0;equation is y = 2 (horizontal line).
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8 (2,0) is location of abs min; (5,9) is location of abs max.
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9 A) max (0,0), min (8,—256) B) f'(x) = 5x3 = il = 5x14 cvatx = %,x =0;
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D) f'(x) = e the ngmerator is never 0;
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A) f'(x)=3x2+5x—14; f"(x)=6x+5=0, xz_g;
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B) f/(x) =12x3 +12x% + 12x; f"(x) =36x?>+24x+12=12(3x>+2x+1) =0
Now b? — 4ac < 0 — numerator never 0 — always concave up.
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